
Flying Through the Air - Solution

            (column,row,direction)

ACROBAT (11,7,W)

AIRPLANE (1,7,S)
AIRSHIP (16,12,N)

BAT (15,2,SW)
BLIMP (1,1,SE)

BUTTERFLY (14,12,NW)
DIRIGIBLE (18,12,N)

DOVE (3,14,E)
DUCK (11,10,SE)

EAGLE (10,10,S)
FLAG (5,1,W)

GHOST (6,8,W)
GOOSE (14,14,NW)

HAWK (3,2,E)
HELICOPTER (18,1,W)

             (column,row,direction)

HOT AIR BALLOON (17,2,S)
JET (10,2,W)

JUNEBUG (7,8,E)
MOSQUITO (9,11,W)

ROCKET (2,13,E)
SPACESHIP (8,5,E)

SPARROW (8,12,W)
SPIRIT OF AMERICA (1,6,E)

SPIRIT OF GOODYEAR (16,9,W)
SPIRIT OF INNOVATION(1,3,E)

SUPERMAN (2,10,E)
WASP (13,2,SE)

WIND (14,8,S)
WITCH (4,5,NE)

ZEPPELIN (15,7,S)

Trivia: Goodyear has three blimps in its fleet.  What are the names
of these three airships?

Answer:  Spirit of Goodyear, Spirit of America, and Spirit of Innovation
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